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z ∼
(
Xβ,

m∑
i=1

αi · Ui

)
,
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����
� 
� �� n��������
��� ����
� �������� z ��
� ���� �����

& z = Xβ

��� ������	��	
������	� ��
��"

'
�(z) =
m∑

i=1

αi · Ui ,

����� 
�� (n × k)����������
��" X ��� 
�� m �����
��	 �
��
��� ���� ��$��
� (n × n)���
��	�� Ui�

i = 1, . . . ,m� ��� ��
��� ����� 
�� ������
�� β ������ �� IRk ��� 
�� ������
�� α = (α1, . . . , αm)T
��

IRm
+ � 
�� �
��
��� 
�
���
 
� IR

m� ��� �� ������ ����(X) < n� ��� '
�(z) 
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Γ =
{
z �−→ z +Xβ | β ∈ IRk

}
.
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�
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�	 y ��
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 Γ �� ����� ��

y =
(
I −XX+

)
z

= )�
*|�����(X)⊥z ,

����� I �� 
�� (n× n)�����
�
����
��" ��� X+ �� 
�� �����
������� 
� X �

+� ��
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���

y ∼
(

0,
m∑

i=1

αi · Vi

)
, α ∈ IRm

+ ,

����� Vi = (I −XX+)Ui(I −XX+)� �./� � � � � ��
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 �
� A �� � �����
��	 n×n���
��"� 
��� � !�����
�	 ,��������
- ��
���

� �
� � ������ �
�� pTα > 0�
p = (p1, . . . , pm)T � p ≥ 0� p ∈ IRm� �� ����� �� yTAy� ��� ���

��� 0
� 0 
�� 
��	�� �
� ���� �� ����� ��

& yTAy − pTα = & 
�AyyT − pTα

= 
�A& (yyT ) − pTα

= 
�A(
m∑

i=1

αiVi) − pTα

=
m∑

i=1

αi(
�AVi − pi) ,
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��
 yTAy �� �� �������� ��
���

� 
� pTα ��


�AVi = pi, �
� ��� i = 1, . . . ,m ,
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√
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��� −→ IRm

A �−→ gA =

 
�AV1

���

�AVm

 ,
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 g∗ �� ����� ��

g∗ :
IRm −→ ���
a �−→ g∗a =

∑m
i=1 αiVi, a = (a1, . . . am)T ,

��	� 
��
 gg∗ ��	
��� 
�� <������
��" G�

gg∗ = G = {
�ViVj}i=1,...,m
j=1,...,m

,


� ���	� 
�� ������� G−1 �"��
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�� ������� ������ ����������	� 
� V1, . . . , Vm�

1��

� g+ 
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������� 
����

� 
� g� 
��� 
�� ���!�� A0 �� ����� ��

A0 = g+p ,

���	� ��	���� 
� g+ = g∗(gg∗)+ �����
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�� 	
���
�
�
��� ��������
�
�
�

A0 =
m∑

i=1

ai · Vi, ��
� a = (a1, . . . , am)T = G−1p.

%�
 �� ��$�� �
� 
�� ��	

�� b = (b1, . . . , bm)T ��� c = (c1, . . . , cm)T ��

bi =

{
ai, �� ai > 0
0, �� ai ≤ 0

, ��� ci =

{
−ai, �� ai < 0
0, �� ai ≥ 0

,


���

A0 = g∗a
= g∗b− g∗c
=: A1 −A2 ,

����� A1 ∈ )�1� A2 ∈ )�1� ���
gA0 = p, gA1 = Gb =: q, gA2 = Gc =: r ,
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pTα = qTα− rTα ,
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� 
�� ��
���

��

����
pTα =

����
qTα −

����
rTα

= yTA1y − yTA2y.

+� ������ A2 	= 0� 

������� A0 ∈ )�1�
=
� A1 �� �� ����
"���
�
� �� )�1 

 A0� ��
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yTA1y =
����
qTα =

����
pTα +

����
rTα

<
����
rTα , ��
� �
��
��� ��
������
� ,
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qTα = pTα+ rTα > rTα.
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pTα � ��� ψ · A2
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����
rTα �
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E

{
ψ·

����
qTα +ψ·

����
rTα

}
!= qTα ,

��������

ψ =
qTα

qTα+ rTα
,

��� �
 �� ��$�� 
�� ����
"���
� �
��
�
� �� )�1 ��

A)�1, �����(ψ) := ψ · A1 ,

����� ψ 	�� �� ��
���
�� ��

ψ̂ =
yTA1y

yTA1y + yTA2y
,

���	� ����� �
� pTα 
�� �������� ����
"���
� ��
���
�(
����
pTα

)
)�1, �����(ψ̂)

= ψ̂ · yTA1y.
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 A1∗ −A2∗ �� �
��
��;

A1∗ :=
∑

λ∈σ(A0)

max {0, λ} · Pλ ,

A2∗ := A1∗ −A0 ,

����� σ(A0) �� 
�� ���	
��� 
� A0 ��� Pλ �� 
�� ��
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